EARAROBREBRT —5 XN—ZXBISH—F 202368248 (+) 6EHIE4H

S SAGAURYYvy—R A2 USR3I®EE BN
[AXE%&]) 1%&:850,000” ~ 2&:272,000  337%:153,000H . 43#&:102,000  ~ 5 & :68,000 H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
on = R alllER : -7-7- - LIFE (1£2)
17l 7 | FvrRyzrvya i 8 anl 1.(2_9).3 7-7-7-2 | 37.0 4 (53;) e ¢ =
RIALNSRYIR B:F3vIAFE1— Frse]
bt = 3 i3] :29. -5-5- . - AEFKR (£8)
5 S| 7T T*SS Y5 MR 1(219)5 4-5-5-1 | 38.3 1 gz) e
RiAIVI/RSAY BT T /AT INRBUS
< Ny — — — LIE&HRES : -4-2- - LIE#E (k&
3111 |¥/97%=3354 LR 1'(353'4 M R : ?f:) (#) MR
RiTUF—Y BFZFI—A fstE  fet
Yy SoSS s f 4 | REES 1:30.6 8-8-8-8 |37.9| - 3 476 | ZNMHEA (EH)
4|5|5|¥9SI5UT 54.0 (/4) () | BATEE
Rib—trya—sv B:T747LR EAHERIY R
-~ . 7 | WOB 1:30.6 3-3-4-6 |39.7| — 9 | 481 |EHEM (£
5/8|g|PAM=YIXAE— 56.0 NF) @ | HERR -
RAIV/RSAY B:YatTq—3X YIYNIOITIIT7—1A
< = t 7 | WTHEE 1:30.9 6-6-6-7 |38.9| — 5 | 484 |BEwth (8
6l8l9| A¥I—ILTV—0O 56.0 a1/2) “1 TESR=T—F 1 VTR )
RIVIRI—ZZRI— B:YYIA—L—V BiET7—L
< HAKIBA : -2-3- - KEFEX (K8
1 . A&k 6 | Wk e Bl A
RPURI TSR B:vAUS ST 1T 7 — LA
= W 5 | RHEE 1:31.4 1-1-1-3 | 40.8| - 7 521 | FWUES (£H)
8 3 TALILYYYH— " 56.01_ 2172 “2) TIERIER -
RIFAILARTH— B:FAILIURII FA TLHBUS
<, e —= SARES : -9-9- - FEBF (8
9 6| TVIA7=54 i 8 2 (15;343;3) 9-9-9-9 | 40.6 8 528;3 Fom (=
RIIVINATA—=H— B:ATFUVTTIRY fidaakae=
@ 11— —‘@BIEfI
10—7+— 3,4,8,2,1,9,7,5,6
20—7F— 3.4,8,1,2,9,7,5.6
30—7+— 3,1,4,8,2,9,7,5,6
40—7F— 2,7,3,1,4,8,9,5,6
o ILRE
BB 7 870 | [ DA K 2-7 310 & 2-7 1,040 3EE 1-2-7 730
B B 7 1504 1-7 2904 F5 EE 2-7 1,080 3EE 7-2-1 8,690
2 120MH 1-2 130H o= 7-2 3,060
1 120/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




